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O | =R BRI L= 9.80 m

{IAM- I,Zi'//]rljg 1. 17 mm

B 100 mm (FEE)

Ik 1200 kg/m3
o AFE 15 %

0.00117 X 0.10 X 9.80 X 1200 X 1.15 = 1. 58 1.58 |kg
Sy M 30 mm
2 2 mm (fEE)
k#1700 kg/m3
0.03 X 0.002 X 9.80 X 1700 = 1. 00 1.00 |kg
1&}?:&]\%%3 g&%ﬁfﬂﬁ% 4.0 ZIK/m

9.80 X 4.0 = 39.2 40 |R
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SEME S 10 mm
Y 10 mm (FEE)

Ik 1925 kg/m3

0.01 X 0.01 X 26.75 X 1925.0 = 5.15 5.15 |kg
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2 2 mm (%)
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0.03 X 0.002 X 1.85 X 1700 = 0.19 0.19 [kg
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SEME S 10 mm
Y 10 mm (FEE)

Ik 1925 kg/m3

Fehht 0.01 X 0.01 X 50.40 X 1925 = 9.70 9.70 [kg




